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T table chart

The table provides critical t-values for both one-tailed and two-tailed tests in various degrees of freedom (df) with different significance levels (a). The critical values indicate the maximum t-value that can be rejected in favor of the null hypothesis. To find the critical t-value, we need to know the df and «. For instance, if df=10 and a=0.05 (two-tail),
the critical value is 2.2281. The term "two-tailed" refers to tests where we are interested in results that could be significantly different in either direction - either unusually high or low. We split our alpha between both tails, resulting in a critical value. On the other hand, one-tailed tests involve putting all of alpha into one tail, testing if something is
either significantly greater (right-tail) or significantly less (left-tail). The T distribution is similar to the normal distribution but is used when the population standard deviation (o) is not known and sample sizes are small. As sample sizes increase, the 't' distribution approaches a normal distribution. The critical values of 't' distribution are calculated
using statistical tables, which can be found below for easy reference. The T table is a statistical distribution used to determine the critical values of the t-test, which are used in hypothesis testing. It was developed by English statistician William Sealy Gosset and provides upper critical values for both one-tailed and two-tailed t-tests. The table shows
the probability levels at the top, ranging from 0.50 to 1.00 for one-tailed tests and 1.00 to 0.30 for two-tailed tests. To use the T table, you need to know three things: the number of tails (one-tailed or two-tailed), the degrees of freedom (df), and the alpha level. The df can be calculated using the formula DF = n - 1, where n is the sample size. Once you
have the df value, you can locate it on the corresponding chart, which is usually found on the left-hand side. For example, if we want to find the critical t-value for a one-tailed test with df = 5 and alpha level of 0.05, we would look up the row corresponding to df = 5 and the column corresponding to alpha level = 0.05. The result is the critical t-value at
the intersection of these two values. The critical value for a t-test depends on the significance level, sample size, and whether the test is one-tailed or two-tailed. To find the critical value, you need to refer to the T-Table. For example, if you're conducting a one-tailed test with an alpha level of 0.05, a sample size of 25, and degrees of freedom (df) = n -
1 = 24. The critical value is found by mapping the intersection of the values for df and the alpha level on the T-Table. In a two-tailed test, you would select the two-tailed row for the alpha value and map the degree of freedom under the leftmost column. The choice between using a Z Table, T Table, or Chi-square distribution depends on the type of
data available. A Z Table is typically used when both the population standard deviation and mean are known, while a T Table is preferred for small sample sizes (N



